RAMPZART

» 5] |=

MAIN-COURANTE PMC-560
LISSE HAUTE PLH-311

VIS T.PLAT CARREE #10 x 1)4" (S.S. # 304)

— MAIN-COURANTE PLP-353B
LISSE INTERMEDIAIRE PLP-338M
FP-338 ,
VIS TEK T.PAN CARREE #8 x %" (S.S. #304)

i ___BARROTIN PBR-000
e— 1710 —
POTEAU SUPPORT PP0-230
( / 0 9
(’L R O O o
Z' o o
2 i ¢ O O
o I
Q DETAIL
_ LISSE BASSE PLB-338
FP-338 ,
VIS TEK T.PAN CARREE #8 x %" (S.5. #304)
SABOT SA-230
VIS T.PLAT CARREE #10 x 1)4" (S.S. # 304)
¢ o/ ANCRAGE MECANIQUE (S.5.#304)
© T , 0
R PLANCHER DE BETON ~
TV Y & & 28 MPA MIN
3 E UAEVGAH e —
+ 55—4—4‘ LA I\ Y A A A A “ A Q
RN . = o )
a4 P < i ) 3,
A A A a A Aa a. Az A A A T)
: . I < A<
. < < . _ -4 -g
_' . . ;i < .<1 : \[ﬂ
< ) . .
Mot Garde-Corps CLASSIQUE avec Vide CL230-V

4457, Boul. de La Rive-Sud, Lévis (Qc), G6W 6M9

Téléphone: 418-838-4464 / 1-800-463-6879 / Fax: 418-835-0426

www.ramp-art.ca
Licence RBQ: 8104-5759-11



